NZXT

H510/ H510i

COMPACT MID-TOWER ATX CASE

POWERED BY

NZXTcav

.l

EXPLODED VIEW

1

TOP EXHAUST FAN

9

FRONT I/0

CLEARANCES AND SPECIFICATIONS

ERRESB AR USB 2.0 BB RSN - #HELHIRBRE - 55E camwebapp.com T#liZ % NZXT CAM -

Nota: non effettuare il collegamento se il PC & acceso.

VISTA EXPLOSIONADA MEDIDAS Y ESPECIFICACIONES Motherboard Support ATX, Micro-ATX, Mini-ITX | Moanep:Ka MatepuHckoii nnab ATX, Micro-ATX, Mini-ITX
VUE EN ECLATE 10 DEGAGEMENTS ET SPECIFICATIONS 2.5” SSD Support 2+1 /1A TBEPOTENbHbIX HaKoNUTeneit 2,5"  2+1
EXPLOSIONSDARSTELLUNG 2 SMART DEVICE V2 r ABSTANDE UND TECHNISCHE DATEN 3.5” HDD Support 2+ DI KECTKX INCKOB 3,5" 2+1
(H510i) f
VEDUTA IN ESPLOSO SPAZI NECESSARI E SPECIFICHE Expansion Slots 7 Pasvews pacmpes s z
VISTA EXPLODIDA TOP RGB LED STRIP (H510i) DIMENSOES E ESPECIFICACOES GPU Clearance 325mm 3asopmnrpa¢wgecmronpouecc0pa 352;52'2m
TPEXMEPH 7 1 Cable Management 19-23mm OpraH3auns kabesnbHbIX cucTem 19-23mm
Hrje OE NPEAOCTABNIEHWE NETANEN 3 1 1 IE;;;/I‘%[EiKME XAPAKTEPUCTUKUN N 3A30PbI CPUCoole_rClearance 165mm Kynepnp?ueccopa 165mm
BEEK REAR EXHAUST FAN RIGHT METAL PANEL %F;ﬁ‘t{j:&{ Front Radiator 60mm MepepHuin pagyatop 60mm
Bt R 4 12 18] 86 5 A 1 Placas base admitidas ATX, Micro-ATX, Mini-ITX | OtC{=E X| 2l ATX, Micro-ATX, Mini-ITX
B BR S & BE 2 1R 1% Unidad de estado sélido de 2,5” 2+1 2.5" SSD 2+1
PSU DUST FILTER DTRAY Unidad dediscodurode3,5”  2+1 3.5" HDD 2+1
5 Ranuras de expansion 7 2 &8 7
- 13 Distancia de seguridad para GPU 325mm GPU 7t7 325mm
VERTICAL GPU MOUNT (H510i) Administracion de los cables  19-23mm #olg He 19-23mm
FRONT RIGHT DUST FILTER Disipador de laCPU 165mm CPU 27 165mm
6 Radiador frontal 60mm % 2tr|of o Ef 60mm
LEFT TEMPERED GLASS SIDE PANEL Cartes mére prises encharge  ATX, Micro-ATX, Mini-ITX | *¥'—R—RFHR—F ATX, Micro-ATX, Mini-ITX
14 SSD2,5” 241 25"SSDH K— 2+1
HDD CAGE Disques durs 3,5” 2+1 3.5"HDDH R~ b 2+1
210MM 428MM Baies d'extension 7 IHRNVYavRAy 7
15 Longueur du GPU 325mm GPUZUTZVA 325mm
7 FRONT BOTTOM DUST FILTER - T OECIT: Gestion du cablage 19-23mm T—IIVDER . 19-23mm
E:@a_, T o Radiateur du processeur 165mm CPUT—=5—JUT 5V 165mm
CABLE BAR P ® W) 2 : Radiateur avant 60mm JAVEIYI—8— 60mm
16 Motherboard-Unterstiitzung ~ ATX, Micro-ATX, Mini-ITX | E#RszHF ATX, Micro-ATX, Mini-ITX
8 CHASSIS a i 2,5-Zoll-SSD 2+1 2.5"SSD37#% 2+1
o o 3,6-Zoll-Festplatte 2+1 3.5"HDDX%#5 2+1
CABLE BAR RGB LED STRIP (H510i) 17 Erweiterungssteckplatze 7 7 7
Py GPU-Abstand 325mm GPU [E)EE 325mm
FRONT COOLER BRACKET Kabelverwaltung 19-23mm ZUEE 19-23mm
i d CPU-Kiihler 165mm CPU AR 1E]ER 165mm
Por O e a8 Vorderer Kiihlkdrper 60mm BIE AL ER 60mm
o ~
o ° ° o > P T icro- ini-
1. Ventilador de escape superior 1. Ventilateur en extraction du haut 1. Lufter fir Luftauslass an Oberseite 1. Ventola di scarico superiore 1. Ventoinha de exaustéo da parte superior 1. BepXHUi1 BbITAXKHON BEHTUNATOP 1. AMCHHYZ| 1. by THE T 1. s S s 1. ERHREE L = S ch%e‘zj?s'r'nadre supportata QT)1(,MICTO ATX, Mini-ITX Zisﬂgéégﬁf ?E(- Micro-ATX, Mini-ITX
2. Tira LED RGB superior (H510i) 2. Bande LED RVB du dessus (H510i) 2. RGB-LED-Streifen an Oberseite (H510i) 2. Striscia LED RGB superiore (H510i) 2. Tira de LED RGB da parte superior (H510i) 2. BepxHsas ceeToAnoaHas neHta RGB (H510i) 2. ACHRGB LED AE & (H510i) 2. by RGBLED R R (H510i) 2. TiEB RGB LED ¥T#5 (H510i) 2. JBEB RGB LED &1 (H510i) [N/ZoX4Ty e | 5% = HDD 3' 5 2+,| 3.5”HDD§/]§§ 241
3. Ventilador de escape trasero 3. Ventilateur d'échappement arriére 3. Lufter fur Luftauslass an Riickseite 3. Ventola di scarico posteriore 3. Ventoinha de exaustao traseira 3. 3aAHWi1 BbITAXKHON BEHTUAATOP 3. =0 7| 3. UTEER T 7 3. EHIS B 3. BHERRE @J LA e a | lo All '.d’ . 7+ F?’EW 7
4. Filtro de polvo de la PSU 4. Filtre & poussiére du bloc d'alimentation 4. Netzteil-Staubfilter 4. Filtro polvere alimentatore 4. Filtro de p6 do PSU 4. Mbinesoi GpunbTP 610Ka NUTaHNA 4. PSU HX| ZH 4. PSUZZT1)L2— 4. PSU B4bi 4. ERHAERBERA ':' s o o 72 ] S 0gel eSpaHSI'oneu GPU 35 (?PU Fﬁ.‘iﬁ 225
5. Soporte vertical para GPU (H510i) 5. Support vertical GPU (H510i) 5. Vertikale GPU-Halterung (H510i) 5. Supporto Verticale per GPU (H510i) 5. Montagem Vertical GPU (H510i) 5. BepTuKasnbHOe KpenneHue rpaduueckoro npoteccopa (H510i) 5. JefEILE M2 AXHH510i) 5. BT A AT LA A= ROERFF(H510i) 5. B BRR%% (H5100) 5. EXHREZELEN (H5100) = o pazio necessario alla mm %?E:;ig 19 zn;m
6. Panel de vidrio templado lateral izquierdo 6. Panneau latéral gauche en verre trempé 6. Hartglasfenster links 6. Pannello laterale sinistro in vetro temperato 6. Vidro temperado do painel lateral esquerdo 6. JleBan 60KOBas NaHeNb 13 3aKaNEHHOTO CTekna 6. Zt= 23t 92| AlO|E T 6. FEHA F&IEAZR/IARIV 6. ZZMIEIRIBIR 6. ZRRIERIBENR i L ° Gestione dei cavi 19-23mm CPS iz;ﬁéglaﬁﬁﬁ 16% mm
7. Barra de limpieza 7. Barre pour la gestion des cables 7. Reinigungsleiste 7. Barra di gestione dei cavi 7. Barra de limpeza 7. Manenb Clean sweep 7. #o|g ™e| vt 7. 7= 1REFE 7. B 7. BEENR D'Sp.ersore dicalore CPU 165mm. *E”ﬂﬂﬁ% = 60 mm
8. Tira RGB LED de la barra de cableado (H510i) 8. Bande LED de la barre cache cables (H510i) 8. Kabelleisten-RGB-LED-Strip (H510i) 8. Barra cavi della Strip Led RGB (H510i) 8. Barra para cabos com fita de LED RGB (H510i) 8. LED-nerTa RGB-O/IcBeTKi Ha KaGenbHoi inarke (H5101) 8. 0|2 b} RGB LED AE 2 (H510i) 8. 47— 1LJ\—RGB LEDR F)xv 7 (H510i) 8. ILRUITRGB LED K5 (H510i) 8. BRIERGB LED /&1 (H510i) “ Radiatore frontale 60mm R mm
9. E/Sfrontal ) 9. E/Savant ) 9. E/Aan der Vorderseite 9. I/0 anteriore ) 9. E/Sfrontal ) 9. Pasbembl cnepeau 9. M9 1/0 9. 7OYMI/O i 9. Bil% 1/0 9. BIA 1/0 N Placa-principais suportadas ATX, Micro-ATX, Mini-ITX
10. Dispositivo inteligente V2 (H510i) 10. Smart Device V2 (H510i) 10. Smart Device V2 (H510i) 10. Dispositivo intelligente V2 (H510i) 10. Dispositivo inteligente V2 (H510i) 10. WHTennekTyanbHoe ycTpoiictso V2 (H510i) 10. AOLE &HX| V2 (H510i) 10. AR—F7 /A Z V2 (H510i) 10. EEEIRE V2 (H510i) 10. EHE#E V2 (H5100) SSDde 2,5" 241
11. Panel metalico derecho 11. Panneau métallique droit 11. Seitliche Abdeckung rechts aus Metall 11. Pannello destro in metallo 11. Painel de metal direito 11. Mpasas MeTannMyeckas naHenb 11. 9= o oj g 1. BBV 1. AllEER 1. ARIEEER HDD de?,’5" 241
12. Bandeja unidad de estado sélido 12. Plateau SSD 12. SSD-Fach 12. Cassetto SDD 12. Tabuleiro de SSD 12. JIOTOK AN TBEPAOTENbHBIX HaKonUTenel 12. SSD E3j|0| 12. SSDhLA 12. SSD% 12. SSD% Ranhuras’ de expansao 7
13. Filtro antipolvo delantero derecho 13. Filtre & poussiére avant droit 13. Staubfilter vorne rechts 13. Filtro antipolvere frontale destro 13. Filtro de pé do lado direito da frente 13. TepepHuii Npasbiii BO3AYLWHBIA GUALTP 13. M3 = x| T 13. 7OV SA MER N T4 ILR— 13. BIARAMIFEALM 13. BIGRIRE U D M Folga paraa GPU 325mm
14. Compartimento do disco rigido 14. Plateau pour disque dur 14. Festplatteneinsatz 14. Cassetto HDD 14. Bandeja de unidad de disco duro 14. JIoTOK ANA XKeCTKOro Ancka 14. HDD Eg|0| 14. N=RFSATrLA 14, BRR 14. 1EHR2R Gestdo de cabos 19-23mm
15. Filtro antipolvo delantero (bajo) 15. Filtre & poussiére avant (dessous) 15. Staubfilter Unterseite vorne 15. Filtro antipolvere frontale inferiore 15. Filtro de p6 do fundo da frente 15. MepenHuil HUKHMIA BO3AYLIHbIG GUNLTP 15. MO ojct HX| 2y 15. 7AYMRMLZEZ R T4)V2— 15. BIARIEEBRA M 15. BIEERE4 Dissipador de CPU 165mm
16. Chasis 16. Chassis 16. Gehéause 16. Chassis 16. Chassi 16. Kopnyc 16. AfA| 16. Yv— 16. #F8 16. HE Radiador frontal 60mm
17. Soporte del refrigerador frontal 17. Support du dissipateur avant 17. Kihlerhalterung an Vorderseite 17. Staffa raffreddamento anteriore 17. Suporte da ventoinha frontal 17. KpoHLTeliH nepepHeit cuctembl OXNaxaeHusa 17. Mo 2 2242 17. 7Y —=5=037 vk 17. Ailm 2 #I8R 2 2R 17. B BENERER
A. Tornillo hexagonal de 6-32 x 6 mm Instalacion de la fuente de alimentacion A. BUHT LECTUrPaHHbii 6-32 X 6 MM YCTaHOBKa VCTOUHVKA MATaHMA 1 — CONECTORES DE VENTOINHA - Trés conectores de ventoinhas para trés canais. Para conectar ventoinha adicionais, utilize os divisores
ACC ESS 0 RY BOX B. Tornillo de 6—%2x5mm Instalacion de la placa base e instalacion de la unidad de disco duro de 3,5", B. BVIHTG-32X5pMM YCTaHOBKa MaTePUHCKOA M1aTbl, yCTaHOBKa JKECTKOTO ANCKa 3,5" SMART DEVI CE V2 (H 51 0 I) PORTS para ventoinha incluidos. :
CAJA DE ACCESORIOS €. TomilloM3x 5mm Instalacion de la unidad de disco duro de 2,5 C. BuHT M3 x5 Mm Vorlisa o 2 DISPOSITIVO INTELIGENTE V2 FAN CONNECTORS - Three Fan connectors for three channels. To attach additional fans, use the included fan splitters. Nota: O primeiro conector de ventoinha com 4 pinos no divisor para ventoinha seré a ventoinha priméria. Nao misture ventoinhas
BOITE D'ACCESSOIRES D. Tornillo KBS x 10 mm Instalacion dsl ventilador D. B””fKBSX1°MM Ycraroeka BEHTUNATOpA APPAREIL INTELLIGENT V2 Note: The first fan connector with 4 pins on the fan splitter will be the primary fan. Do not mix PWM or 3-pin fans. PWM ou 3 pinos. _ . o N . X o
ZUBEHORSET E. Separador 6-32x 6,5 +4 mm Instalac!tsn de la placa base E. Croiika 5'7-32 X6,5+4mm YcraHosKka MATepUHCKOR NnaTbl SMART DEVICE V2 Note: To most effectively use NZXT CAM’s smart Adaptive Noise Reduction, you should connect your CPU fan to the Smart Device. If you Nota: PAara usara redu(;ao adapFavel de r‘ul_do mtell_g_ente da NZXT CAM, vocé deve conectar a v_entoln.ha da CPU ao dISpOSIEIVO inteligente.
F. Llave para separadores Instalacion de la placa base F. TaeuHblil kniou YcTaHOBKa MaTepUHCKOIA nnaThl choose to do this, you will need to disable the CPU Fan warning in your motherboard’s BIOS settings. Se vocé escolher fazer isso, sera necessario desz‘;\b_llltar oalertada ventomh_a da CPU nas configu ragoes BIOS da placa-mae.
SCATOLA DEGLI ACCESSORI G. Brida para cables Administracion de los cables G. KabenbHbiit xomyT OpraHm3auyA KabenbHbIX cuCTem DISPOSITIVO INTELLIGENTE V2 RGB LED CONNECTOR - Two LED strips are pre-installed inside the case. Connect additional HUE 2 LED Strips via the end connector CONECTOR RGB DE LED - Duas fitas LED vém pré-instaladas dentro do gabinete. Conecte outras fitas LED HUE 2 através do conector
CAIXA DE ACESSORIOS H. C‘al.)te multiconector Para panel frontal de placas base no Intel. H. Kabenb-passetsutens [InA NOAKNIOUEHNA GPOHTANLHOI MAHENN K MaTEPUHCKIM MnaTam ¢ pasbémamu He-Intel craHpapTa DISPOSITIVO INTELIGENTE V2 located on the top LED strip. To Connect Aer RGB 2, connect directly to the second RGB channel. localizado no final da fita LED do topo. Para conectar o Aer RGQZ,}:Oﬂ_ecte-o d.iretamgnte a\_o_seg_undp canal BGB. )
KOPOBKA C MPUHALNIEXHOCTAMM I Divisordel diode! de3.5mm  Convierta un solo puerto de audio de 3.5 mmy 4 polos en dos puertos de audio de 3.5 mmy 3 polos I, Pa3bem 3,5 MM AnA HayWHNKOB Mpeo6pa3oBaHie OAHOrO 3,5-MM 4-MOMIOCHOTO ayANONOpPTa B ABa 3,5-MM 3-IOMIIOCHbIX ayAnonopTa UHTENNEKTYANIbHOE YCTPOWMCTBO V2 POWER CONNECTOR - Connect to the power supply to power on the smart device, fans, and LED strips. ?ONl_ECTOR DE ALIMENTACAQO - Conecte a fonte de alimentagéo a alimentagéo do dispositivo inteligente, &s ventoinhas e
oM AtE| BFA AOHE ZHX] V2 Note: Do not connect while PC is powered on. as fafﬁ‘_s deLED. o
WRKE (BEEAY ) E Standoff 6-32 x 6.5+4mm AR FINARV2 ) . - N ota: Nao conecte enquanto o computador estiver ligado.
e X1 ) ) ) o ) . _ HEER & V2 = =— LED CONNECTOR CONECTQRES DE VENTILADOR - Tre§ conectores de ventilador para tres canales. Para conectar ventiladores adicionales, utiliza los
I A. Vis hexagonale 632 x 6 mm Installation de Ualimentation électrique : A. SZILEAL 6-32 x 6mm HYASZEHK| K| o e ot cables bifurcadores para ventilador incluidos. . _ _ o Pazbembl BEHTUNATOPOS - Tpu pasbema BeHTUIATOPOB ANA TPEX KaHa/os. HTo6bl IPUCORAVHNTL AOMONHUTENbHbIE BEHTUAATOPDI,
== @ B. Vis 6-32 x5 mm Installation de la carte mére, installation du disque dur 3,5” B. LtAF 6-32 x 5Smm OiCi 2= MX|, 3.5 3t E2to|= MX| BREE V2 ° ] LIl ) B e (it il tet e : Nota: El primer conector de ventilador con 4 patillas del cable bifurcador para ventilador sera el ventilador principal. No mezcle BOCNO/Ib3yTeCh Pa3BeTBUTENbHBIMI Kabenamu AA BEHTUNATOPOB (B KOMMNEKTe).
C. VisM3x5mm Installation du disque dur 2,5” C. LFA} M3 x 5mm 253l =202 MX| : ventiladores PWM y de 3 patillas. MprimeyaHvie. [epBbiii 4-KOHTAKTHbI Pa3bem pa3BETBUTENLHOTO Kabena NpeHasHaueH /1A OCHOBHOTO BeHTUnATopa. He ncnonb3yiite
D. Vis KB5 x 10 mm Installation du ventilateur D. LA} KBS x 10mm o MX| o : Nota: Para utilizar la reduccion de ruido adaptativa inteligente de NZXT CAM de la forma mas eficaz, debes conectar el ventilador de la PWM 11 3-KOHTaKTHble BEHTUAATOPbI Ha OAHOM KaHane.
'E. glr[tretoise (:-33 x 6,5+4mm :ns:at:a:!on :e :a car:e m?re E igfi% (;—‘if X 6.5+4mm EE;E %:} 3 g::gjsa(; dilSPOlSitiVZ inteligente. Si decides hacerlo, deberas desactivar la advertencia del ventilador de la CPU en la configuracion de la MprimeyaHve. [ina MakcManbHO 3GpGeKTUBHOTO UCMOSb30BaHNA UHTENNEKTYanbHO GyHKLWM ananTueHoro wymonoaasnexua NZXT CAM
g € pour entretoise nstallation de la carte mere . AHMEQ D ol = =2 il e la placa base. -
A Hexagon screw 6-32 x 6mm F Standoff wrench G. Attapche-céble Gestion du cablage G. #|0|2 EtO] Alolg ge| : CONECTORpLED RGB - Dos tiras LED vienen preinstaladas dentro de la caja. Conecta tiras LED HUE 2 adicionales a través del conector HeoGXoauMO nofkniouw T, seHTunAToP LIk VHTEANEKTYEIoHOMY YCTPONCTEY. Ecﬂm 8b! pewure 310 caenats, Heobxopumo Gyaet
X4 x1 H. Cable multi connexions Pour le connecteur Front Panel de cartes méres non-intel H. 220|320t #ol2 H olgl EF ol E F-Ij (AP IiE) o & final situado en la tira LED superior. Para conectar Aer RGB 2, puedes hacerlo directamente al segundo canal RGB. OTKNIOYMTS MPEAYNIPEXACHNE BEHTUNATOPa UM 8 HacTpotikax BIOS MaTepucKoft nnarei.
,ﬁ. @ |. Répartiteur audio jack 3,5 mm pour casque Convertissez un seul port audio 3,5 mm a 4 péles en deux ports audio 3,5 mm a 3 péles I. 3.5mm 3|EA 2C| XM AZ3|H Ct 35mm 4 3 QL) ZEZ 2712 35mm 3 3 2L ZTEZ Het CONECTOR DE ALIMENTACION - Conéctalo a la fuente de alimentacion para alimentar el dispositivo inteligente, los ventiladores y las CaeTopuonHeiil pasbem (RGB) - BHyTpu kopnyca npeasaputenisto YCTaHOBnNeHb' Ase nonOnHMTEﬂbel% CBeTO,ElMOLlI:!bIe nonocol. .
o o \‘;‘ o :, 0 tiras de LED. nOFlKJ'IIO‘-WITe AONONHUTENIbHbIE CBETOANOAHbDIE NONOCHI HUE 2 Yyepes KOHLEeBOW pa3beM, PacnosioKeHHbIV Ha BEPXHeN cBeToanogHou
lo P s s Nota: No lo conectes mientras el PC esté encendido. nonocke. [ina nogkntoyenna Aer RGB 2 noaknioumnte HENOCPeACTBEHHO KO BTOPOMY KaHasy RGB.
a2 T = Pazbem nuraHmns - Yto6bl BKNOUYNTH WHTeNnNeKTyanbHoe yCTpOﬁCTBO, BEHTUNATOPbI U CBETOANOAHDIE NEHTDbI, NOAKNIOYNTE UX K 6[10Ky
A. Sechskantschraube 6 - 32 x 6 mm Netzteilinstallation A. 68%6-32x6mm TREER il NIZXT ot 1 poER/uSs = CONNECTEURS DE VENTILATEUR - Trois connecteurs de ventilateur pour trois canaux. Pour installer d'autres ventilateurs, utilisez les nuTanuA. Mpumeyanwve. He noakniovaite, ecnu MK BKtoueH.
B G ) B. Schraube 6 - 32 x5 mm Motherboard- ion, 3,5-Zoll-Festplatteni ion B. <H—R— Fig, 35SHODREHEA o s = répartiteurs fournis. . " . . o
Screw 6-32 x 5mm Cable tie C. Schraube M3 x 5 mm 2,5-Zoll-Festplatteninstallation C. %I M3x5mm 25HDDEEE 3 s o g ] Remarque : le ventilateur branché au premier connecteur de ventilateur & 4 broches du répartiteur de ventilateur est le ventilateur W AUE - 37 D2 BT, 2t AR 30| W AHUE L AL CHE WS 2712 MX|slaD] Zotel B AB2|EHE ABSHUAIR.
X21 x10 D. Schraube KBS x 10 mm Lifterinstallation D. KBS x 10mm SR ° = principal. Ne pas brancher les ventilateurs PWM et les modéles & 3 broches sur le méme canal. :?E- o Ag2 E*OW f:]“;"f}' ;A}‘iji E'W;%iq Ef?L%“;'i%L'q’ ;V!MELEE' n@"ﬁ%ﬁf"@ f'm *'9'7’4 o R s
/ E. Abstandhalter 6 =32 x 6,5 + 4 mm Motherboard-Installation E. 22 R4 76-32x65+4mm Y —R—FEER Remarque : Pour profiter au maximum du systéme de réduction intelligente de bruit du NZXT CAM, vous devez relier le ventilateur de gg' Efé;cfmél(;s ﬁ;f‘wAECE’UEEMOng“ﬂ';ésf§ﬁ§g@faffg}35ﬁgj TS SOKS SHIO) AHOL HLIE CPU TS A0 IOl 5
/ F. Abstandhalter-Schliissel Motherboard-Installation F REVRAT LUF IH—FR—FEER L PSU votre processeur au Smart Device. Dans ce cas, vous devrez désactiver l'avertissement d'absence de ventilateur du processeur dans les RGE LED HHUE - LS 77;7 LED ~AE ETO‘ ;[Olfju 0”=7C‘>g gnga\ormétrtr ALCHLED A E2J0| BEHO| X|SH HUE{S 0|23} HUE 2 LED AE S
— e Kebelrernatung 8. 7=75q = IV paramétres BIOS de votre carte mere. 2712 GBI AerRGB 2 NIEE QIZSIeB £ UM RGB AEo| NF @FSAA TUEE
H. Kabelpeitsche Front Panel Header fiir alle gangigen nicht-Intel Mainboards H. FL—o79 r—T)L MBOF-Panel\ w4 Ainte B TIF MBS CONNECTEUR LED RGB - Deux bandes LED sont préinstallées dans le boitier. Connectez des bandes LED HUE 2 additionnelles au Tl HUE - Mol 23 K0 WA ADIE AK|, W, LED AE 20| MY ZTIHL|C
I. 3,5 mm Kopfhérer-Audio-Splitter Wandeln Sie einen einzelnen 3,5 Pol-Audioport in zwei 3,5: -3-Pol-Audioports um I 35mmAY Rty b A—FoATvwIR T v B—035mm B4 —F 1A R—FE2D0D3.5mm 3tlA— T 1A R—~cZig connecteur au bout de la bande LED supérieure. Pour connecter des Aer RGB 2, connectez-les directement sur le second canal RGB. AT PC MO0 HA Qs SOt AZBIK| OHAIA|L.
C Screw M3 x 5mm H Breakout Cable ‘ MB CONNECTEUR D'ALIMENTATION - Branch_ez al'alimentation pour alimenter le Smart Device, les ventilateurs et les bandes LED. o N R . . i N
Remarque : ne pas brancher lorsque U'ordinateur est sous tension. F7YARYE -3 DDF v RIVAIC3 DDT 7Y AR ZNGBYE . BIID T 7> BV IS RO T 7V A7) v 2 FEAL TR E W,
x12 X1 — ETTVATVY BRI TS ARG I TIAR T PATYET BF v RINCPWM 77 E 3 E TP RIES LT,
A Vite esagonale 6-32 x 6 mm Installazione dellalimentatore A AR 6-32 x 6mm P SMARTD EV ICE V2 o ) ) LEJFI'ERAI\!SCHLUSSE - Drei Liifteranschliisse fiir drei Kanale. Weitere Liifter knnen tiber die im Lieferumfang enthaltenen ;FNU?%Q\M 3,2%335?%@%%%%@35?“‘“@“ TPVEAR— TN RIS BUEN B E T BT HIHaIE TP —R
B. Vite 6-32 x 5 mm Installazione della scheda madre, installazione HDD 3.5” B. $2%% 6-32 x 5mm TiREE, 35 BRTE The _Smart Device connects to your PC via a single internal USB 2.0 connector. To enable control of the Smart Device, download hlf&er_.s_psltter angeschl_osse_r_\ werden. " . . P . . . . . o RGBLED J%%5% - 230)LED73~ ‘J‘y’”?"ﬁ*/ \'7‘77'702ﬁBb‘QCMHR‘Jfﬁlf'Bﬂfb‘i?u SBANDHUE 2 LEDR R 7id, EZBLEDR v T DiFIcdp 227 2%
C. Vite M3 x5 mm Installazione HDD 2.5 C. 84 M3 x5mm 25 BEEE and install NZXT CAM from camwebapp.com. inweis: Der erste 4-pqllge Lufteranschluss am Liifter-Splitter ist der primare Lifter- PWM und 3-polige Lifter diirfen nicht tiber LTEGENET, AerRGB 2 77— & 5T 2114 BB DRGBF v~ 2 LI EEERLE T,
D. Vite KB5 x 10 mm Installazione della ventola D. t84% KBS x 10mm BRERS El dispositivo inteligente se conecta a tu PC mediante un Gnico conector USB 2.0 interno. Para activar el control del dispositivo d§HSel_ben"KanaL kor_n_bmlert V\_/erden. _ ) . . . X N . BEI% R—FFINAR 77V LED Ry FICEREMIA T BICIE, BRICERLTIEE L,
E. Distanziatore 6-32 x 6,5 + 4 mm Installazione della scheda madre E. A 6-32x 6.5+4mm e inteligente, descarga e instala NZXT CAM desde camwebapp.com. Hinweis: FL_Jr den e_fﬁznente_n Elqsatz der |nte_ll|genten“Adapt|ve Nols_e Reduction am NZXT CAM sotlten_Sue den CPU-Ll_Jf_ter mitdem A ORI LENTLEE W,
D Screw KB5 x 10mm I 3.5mm Headset Audio Jack splitter F. Chiave per distanziatori Installazione della scheda madre F. HEERRF E2ted Le Smart Device se connecte & votre PC via un seul port USB 2.0 interne. Pour activer le Smart Device, veuillez télécharger Smart Device verbinden. Sie miissen dazu die CPU-Lufterwarnung in den BIOS-Einstellungen des Mainboards deaktivieren.
. G. Fascetta per cavi Gestione dei cavi 6. Y NZXT CAM sur camwebapp.com. ’ RGB—LED_—STE.CKVERBINDE_R -ImInneren des Gghéuses sind zwei LED—Strelfgn vori n_statllert.Verbmden Sie zusétzhche_ HUE 2 . éﬁﬁﬁ B;gmaqmﬁg}gzﬁ B
x8 H. Cavo multiconnessione Connettore F-Panel per Mainboard non Intel H. Ayt [ —————— 42"7_ L . . . . LED-Streifen iiber den Verbindungsstecker, der sich auf dem oberen LED-Streifen befindet. Um Aer RGB 2 Liifter zu verbinden, BIEZ)RE PWM 2 3 £ X -
. - 3 \l/itteru s u‘di pTeTe ey nazudiodaa Y ':e 7 r—— = i B - T A Fi/‘;\l RGN /4;&:%2% $§§3‘ e — Das_ S_mart D_ewce wird tber de“n internen USB 2.0-Anschluss mit hrem F"C verl?unden. Um die Steuerung des Smart Device zu verwenden Sie bitte direkt den zweiten RGB-Kanal. IRRIZIT CPU NBERFISEEIRE - SRR - ANZAE THM BIOS R B2 CPU RE
g - Splitter per jack audio da 3, gola po e e - 3.5mmEAESR FEA3.5mm ARERIEIRAFN3.5Smm 3REAED aktivieren, einfach NZXT CAM tber camwebapp.com herunterladen und installieren. STROMANSCHLUSS - SchlieBen Sie das Netzteil an, um das Smart Device, die Liifter und die LED-Streifen einzuschalten. N n T T . N -
= Il dispositivo intelligente si collega al PC tramite un connettore USB 2.0 singolo interno. Per abilitare il controllo del dispositivo, Hinweis: Nicht anschlieBen, wahrend der PC eingeschaltet ist. RGB LED $25 - P MLEDXJ A EALIAN - MBA 0 TINATLEDI A0 IS IE IR BIEIRAMIHUE 2 LEDIT - RIEIRAerRGB 2 - WELIEIREIS — PRGBIDE »
scaricare e installare NZXT CAM da camwebapp.com. %mf* N g}éﬁqu ; _ig‘?g%fﬁ * MRHILED XT38 «
Py B o G Power supply installation Y P e GER G y YT " A AEHEL 6-32 X 6mm BT O_dispc?s_itiv_o int_eligente se con_ecta a seu computador por um conector USB 2.0 interno simples. Para habilitar o controle do CONN_ETT.ORI VENTOLE - Tre connettori v_entole per tre canali. Per fissare le vento!e a_ggiuntive, ut_ilizz_are gli splitter ventole inclusi. . i RO MBS TR -
B, Scrow 6-32 x 5mm Motherboard installation, 3.5 hard drive installation B. Parafusos 6-32 x5 mm Instalacao da placa principal, instalacdo da unidade de 3,5", B 2% 6-32 % 5mm iR, 35 B S::Tpec’)‘i:::oal::sgge::e;z:r;i (:Cl)n:‘ale o:\lf)'((Tn(l)(AM em zaran:::ﬁQQHAchTrEASB 2 Ao smasmes e ) g;tl:.sllts:srzizgzlr:ttore ventole con 4 pin sullo splitter ventola sara la ventola principale. Non mischiare ventole PWM e ventole a 3 pin % gﬁﬁ:ﬁ@iﬁﬁé‘jg‘%’g’i‘ig%ﬁ%’iggﬁE@Zl{i@g@éﬁﬁéﬁﬁﬁ EE —
©. Screw s x Smm 25 hard drive installation €. Parafusos M3 x5 mm T —— C. M3 xSmm 25 Wi Satpysue nyCranoRMTO NIXT CAMC catra camuebappeom. L SR Cpeteon Nota: per utilizzare in maniera piu efficace a riduzione el rumore adattiva di NZXT CAM, si consiglia di connettere la ventola CPU al 818 F R S NIXT CAM SO B LRI TEE - A5 CPU A BES S MR SRR . b ABRENI BIOS L CPU
D. Screw P;fBS x10mm Fan installation : D. Parafusos KBS x 10 mm Instalagao da ventoinha _ D. 47 KBS x 10mm Bl O ADIE RHA| ChOI Lyt e =3 1215/ L|C} ADLE EHA|O Lo Apgsie{oi - dispositivo intelligente. Se si sceglie questa opzione, & necessario disattivare ['awiso relativo alla ventola CPU nelle impostazioni BIOS AREs -
e it F St g b o SIS R 920 PR S SRS SO0 B S B s WIS gl male e s———— o B ARG AR AB RO - SO
& i T —— N T ity 'de e G g ﬁggié ¢ RUE UL USB 2.0 D54 1 DT PCIEELE T A — 7 {4 R EIEF 5214 camwebapp.com A5 NZXT CAM £ 4 E:ONNETTORE_ LEDRGB-Im Innerep des Gehauses sind zwei LEI?-Strelfgn vorinstalliert. Verbl.r?den Sie zus_atzllche HUE 2 LED-_S(r»e#en ;ZE&@ﬁﬁU%JEEB = I e
el odec X ~ o . o N s S ° ~tamwebapp.com tiber den Verbindungsstecker, der sich auf dem oberen LED-Streifen befindet. Um Aer RGB 2 Liifter zu verbinden, verwenden Sie bitte AEiEeE - EEEEAHER - REWEE - BER LED BIRHUEBAEE -
H. Breakout Cable For Non-Intel Standard F_Panel Header Use H. Cabo divisor Para ligacao do painel frontal (F-Panel) em placa-mae padrao nao-Intel H. S8 AR s FRAIRR IR DYA—=FLTAYV A= IVL TR L, direkt den zweiten RGB-Kanal. : BB - Y -
1. 3.5mm Headset Audio Jack splitter Convert single 3.5mm 4 poles audio port to two 3.5mm 3 poles audio ports 1. Divisor de jack de audio de 3,5 mm Converta ani de audio de 4 polos de 3,5 duasp de audio de 3 polos de3,5mm I. 3.5mm E#ZEAOES #REE{E3.5mm 4B ERAFIRAMIES 5Smm 3BERAL AR E BT S USB 2.0 #EEIIMHNITEA - EMEGIREERE - 15M camwebapp.com TEH 2% NZXT CAM - CONNETTORE DI ALIMENTAZIONE - Collegare l'alimentazione per accendere il dispositivo intelligente, le ventole e i nastri LED.



CABLE CONNECTIONS

DISCO DE ADMINISTRACION DE CABLES
CONNEXIONS DES CABLES
KABELVERBINDUNGEN

COLLEGAMENTI DEI CAVI

LIGAGOES DE CABOS

NOAKMIOYEHUE KABENEW

Aols AZ
=7 VS
2 45 0 1%
R %

FOR INTEL STANDARD F_PANEL HEADER USE FOR NON-INTEL STANDARD F_PANEL HEADER USE

HD AUDIO

USB3.1 GEN 2 USB 3.1 GEN 1 HD AUDIO

BUTTONS AND I/0

BOTONES Y E/S

BOUTONS ET E/S

TASTEN UND E/A

PULSANTI E I/0

BOTOES E E/S

KHOMKWN 1 PA3BEMbI BBOLA/BbIBOJA

HE % 1/0
REVEET 1/0
ZHEAM /0
%A 1/0
1 2 345 6
1. HD Audio Output 1. Uscita audio HD 1. HDA—F1#
2. USB 3.1 Gen2 Type-C 2. USB 3.1 Gen2 Type-C 2. USB 3.1 Gen2 Type-C
3. USB 3.1 Gen1Type-A 3. USB 3.1 Gen1 Type-A 3. USB 3.1 Gen1 Type-A
4. HDD LED 4. LEDHDD 4. HDD LED
5. Power LED 5. LED alimentazione 5. J\7—LED
6. Power switch 6. Interruttore d’alimentazione 6. BRAVF
1. Salida de audio HD 1. Saida de dudio HD 1. BAESABTH
2. USB 3.1 Gen2 Type-C 2. USB 3.1 Gen2 Type-C 2. USB 3.1 Gen2 Type-C
3. USB3.1Gen1Type-A 3. USB 3.1 Gen1Type-A 3. USB 3.1 Gen1 Type-A
4. LED de unidad de disco duro 4. LED do HDD 4. HDD LED
5. LED de alimentacion 5. LED de alimentagéo 5. EIRLED
6. Interruptor de encendido 6. Interruptor de alimentacao 6. BRAR
1. Sortie audio HD 1. 3ByKoBoi Bbixog HD 1. BESESL
2. USB 3.1 Gen2 Type-C 2. USB 3.1 Gen2 Type-C 2. USB 3.1 Gen2 Type-C
3. USB 3.1 Gen1Type-A 3. USB 3.1 Gen1Type-A 3. USB 3.1 Gen1 Type-A
4. Témoin disque dur 4. VIHpUKaTOop »KeCTKoro AncKa 4, HDD LED
5. Témoin d’alimentation 5. WHavkaTop nutaHua 5. @IRLED
6. Interrupteur marche/arrét 6. Bbikniouatens NUTaHus 6. TR
1. HD-Audioausgang 1. HD 2C|2 &8
2. USB 3.1 Gen2 Type-C 2. USB 3.1 Gen2 Type-C
3. USB 3.1 Gen1Type-A 3. USB 3.1 Genl Type-A
4. Festplatten-LED 4. HDD LED
5. Betriebs-LED 5. ©¢ LED
6. Netzschalter 6. Mol AQ[X|

PANEL REMOVAL

EXTRACCION DE PANEL
RETRAIT DU PANNEAU
BLENDE ENTFERNEN
RIMOZIONE DEL PANNELLO
REMOCAO DOS PAINEIS
CHATUE NAHENN

e ®A

INEIJVDERYHL

& T E R

BIRER

1

UNSCREW CAPTIVE THUMB SCREW

3

LIFT AND REMOVE PANEL

PULL TOP OF GLASS PANEL

CABLE MANAGEMENT SYSTEM

SISTEMA DE GESTION DE CABLES
SYSTEME DE CABLAGE
KABELMANAGEMENTSYSTEM

SISTEMA DI GESTIONE DEI CAVI
SISTEMA DE GERENCIAMENTO DE CABOS
CUCTEMA NMPOKNAAKWN KABEEWN
Aolg Eal AAH

T=TIVIZIAY NI AT s

BLEEEBRR

BEERRG

FAN CABLE CHANNEL

8-PIN CHANNEL

24-PIN CABLE AND
SMART DEVICE CABLE CHANNEL

MOTHERBOARD INSTALLATION

INSTALACION DE LA PLACA BASE
INSTALLATION DE LA CARTE MERE
INSTALLATION DER HAUPTPLATINE
INSTALLAZIONE DELLA SCHEDA MADRE
INSTALACAO DA PLACA PRINCIPAL
YCTAHOBKA CUCTEMHOW MNNATbHI

O EE A

Y —R— RO

E T

e T

POWER SUPPLY INSTALLATION

INSTALACION DE LA FUENTE DE ALIMENTACION
INSTALLATION DE L’ALIMENTATION
INSTALLATION DER STROMVERSORGUNG
INSTALLAZIONE DELL’ALIMENTATORE
INSTALACAO DA FONTE DE ALIMENTACAO
YCTAHOBKA UCTOYHUKA MUTAHUA
HYSZEKA M3

BROEE

IR

BRw%

IMPORTANT!
Install the PSU with the fan facing down.

EXPANSION CARD INSTALLATION

INSTALACION DE LA TARJETA DE EXPANSION
INSTALLATION DE LA CARTE D’EXTENSION
INSTALLATION DER ERWEITERUNGSKARTE
INSTALLAZIONE DELLA SCHEDA D'ESPANSIONE
INSTALACAO DA PLACA DE EXPANSAO
YCTAHOBKA MATbl PACIWINPEHMNA

oF e MK

ERA—FDESE

TRERE

WAERE

UNSCREW THE THUMB SCREW

HORIZONTAL GPU MOUNT

UNSCREW THE THUMB SCREW

Ty

Fetsescesnaciosiey)

VERTICAL GPU MOUNT

HDD DRIVE INSTALLATION

INSTALACION DE LA UNIDAD DE DISCO DURO
INSTALLATION DE LECTEUR HDD
HDD-LAUFWERKSINSTALLATION
INSTALLAZIONE DELL’UNITA HDD
INSTALACAO DA PLACA DE EXPANSAO
YCTAHOBKA XECTKOTO IUCKA

HDD Eztole X

HDD# &

HDD IXzh 28 &%

ERR
~-.

SSD DRIVE INSTALLATION

INSTALACION DE LA UNIDAD DE DISCO DE ESTADO SOLIDO
INSTALLATION DU DISQUE SSD
SSD-LAUFWERKSINSTALLATION

INSTALLAZIONE DELL'UNITA SDD

INSTALACAO DA PLACA DE EXPANSAO

YCTAHOBKA TBEPJOTE/IbHOTO HAKONUTENA
SSDE 2t 0] & A %X
SSD#EE
SSDYimhesesE
SSD %

VERTICAL MOUNT

HORIZONTAL MOUNT 0

DIY LIQUID COOLER SUPPORT

HAZLO TU MISMO: SOPORTE PARA REFRIGERADOR LiQUIDO

SUPPORT DE REFROIDISSEMENT LIQUIDE A ASSEMBLER VOUS-MEME
WASSERKUHLUNG MARKE EIGENBAU

SUPPORTO PER DISSIPATORE A LIQUIDO FAI-DA-TE

SUPORTE A REFRIGERACAO LIQUIDA DIY

NOJAEPKKA CAMOCTOATENIbHOW CBOPKWN XUAKOCTHOW CUCTEMbI OXJTAXEHUA
DIY WA 28 x[@

KABY—5—ZFHEBWD DIY

DIY BixZHEZSH

DIY K&z

The Cable Bar could support up to 150mm tall tube reservoir with M4 screws

The bottom Panel could support D5 or DDC pump mount with M4 screws

La barra para cables podria soportar un depésito de tubo de hasta 150 mm de alto con tornillos M4
El panelinferior podria soportar el montaje de una bomba D5 o DDC con tornillos M4

La barre de gestion des cables peut supporter un réservoir d'une hauteur maximale de 150 mm avec des vis M4
Le panneau inférieur peut supporter un montage de pompe D5 ou DDC avec des vis M4

Die Kabelschiene bietet Platz fiir einen bis zu 150 mm hohen Rohrbehélter mit M4-Schrauben

Die untere Abdeckung bietet Platz fiir eine D5- oder DDC-Pumpenhalterung mit M4-Schrauben

La barra dei cavi supporta un serbatoio tubolare alto fino a 150 mm con viti M4

Il pannello inferiore supporta il montaggio della pompa D5 o DDC con viti M4

A barra de limpeza pode suportar um reservatério de tubos alto de 150 mm com parafusos M4

0 painel inferior pode suportar montagem de bomba D5 ou DDC com parafusos M4

Ha KabenbHyio NaHenb MOXHO YCTaHaBNMBATb TPY6UaThIi pesepByap BbICOTOMN 0 150 MM € MomoLLbto BUHTOB M4
Ha HiKHIoI NaHenb MOXHO ycTaHaBnmBaTb Hacoc D5 v DDC ¢ nomoLibio BUHTOB M4

70|12 Bh= M4 LIAFZ Z|0f 150mm =0[0| £2 £88 XX + ASLCH

SICHIE2 M4 LEALR D5 & DDC HI DR EE X|X[E 4 Q&LICt

T=7IN=T, M4z EHRA50mm DF 1 —THKE Y I EZ R DRBENHYEY

R LAFIUTIE M4 2T D5 Ffzld DOC Ry TZRYU T 2 8BHHY ET

LRI M4 IR LT BIR 150 AN S SRR

JEERETR SIS M4 88223255 DS 5 DDC SRZ2%

IBAAZIER M4 9844 - SILSTIERES 150mm BEKE

JEEBETIRGE R M4 884 - 1238 D5 5 DDC REZ24HE

FAN AND RADIATOR SUPPORT

COMPATIBILIDAD DE VENTILADORES Y RADIADORES
PRISE EN CHARGE DES RADIATEURS ET VENTILATEURS
LUFTER- UND KUHLER-UNTERSTUTZUNG

SUPPORTO VENTOLE E RADIATORE

SUPORTE PARA VENTOINHA E A RADIADOR
COBMECTUMBIE PAOUATOP U BEHTUNATOP

™ g oatcjojolg X Y

W77V ELUFIT—%

RERMEBABLE

BB BB ®

RADIATOR MODE FAN MODE

REAR

1x 120mm
TOP
1x120mm
1x 140mm

FRONT
1x 120mm
2x120mm

The screws shown will
be provided within you \
liquid cooler packaging. N

FRONT
2x120mm
2x 140mm

HAZARDOUS SUBSTANCES

ABAEMRRTER

RERIR A HZRD

BEYR
EBEBIR # (Pb) K(Hg) #(Cd)
PCBAR LTt @)
E R
o 27
EREMY
BR&MY
TR
BRRE PR
M RENRIER

+
>
%

4

o

f

N
2

OO0OO0O0O0O00O0O0
O O0OO0OO0O0OO0O0O0
OO0OO0OO0OO0O00OO0O0
OO0OO0O00O00O0O0

RERAGHIESI/T 11364 E LG -
O: BRZAENREZBERBEHLRM KPS RIYEGB/T 26572MENREBERT -
X: RNZBEYREDEZAENE—EMR PSS SBLGB/T 26572EEMREBE K

RBEBHE WA HZRS
FRAE R EACBRSR
E # (Pb) *(Hg)
PCBARM Lot o o
R
(55l
RS
BIBEES
=]
2N
BEREEVR
ARAE R ED R &

s
Eif
[a)
o

NESE (Cre) E2

O O0OO0OO0OO0O0O0O0
O O0OO0OO0OO0O0O0O0
O 00000000
OO0OO0OO0OO0OO0OO0OO0O0

(Cre) ZIREXE (PBB)

i

O

OO0OO0O0O0OO0O0O0

O O0OO0OO0OO0OO0OO0O0O0

HE1. "#BH0.1 wt%"R “HBH0.01 witk"GERANEZ B2 EBHEN LS E8EEE -

8 HiEZRRANE B SERBHEN LS 8E%E -
HE3. - GIEZARBYERRES -

2 REXK Bt (PBDE)

O

OO0OO0OO0O0OO0OO0O0

= (PBB) 2R _REE

REGULATIONS

€ (€&

This personal computer case with the smart device is tested to comply with FCC standard, Australian standard and EU EMC Directive
(2014/30/EV)

CAN ICES-3(B) / NMB-3(B)

This Class B personal computer case with smart device complies with Canadian ICES-003

Cet étui pour ordinateur personnel de classe B avec dispositif intelligent est conforme a la norme NMB-003 du Canada

NZXT GLOBAL WARRANTY POLICY

This NZXT Global Warranty Policy governs the sale of products by NZXT to you.

I.WARRANTY LENGTH

New NZXT Product Warranty Length for Parts

Computer Cases 2 Years

Temperature Meters 2 Years

Fans 2 Years

Lighting 2 Years

Accessories 2 Years

Headset/Headphone 2 Years

Headset/Headphone Storage 2 Years

Mixer 2 Years

Speakers 2 Years

KRAKEN M Coolers 3 Years

Motherboards 4 Years

HALEQ0 Power Supply 5 Years

KRAKEN Coolers 6 Years
Refurbished NZXT Product Warranty Length for Parts

AlLNZXT Certified Refurbished Products 1Years

Any replacement product will be covered under warranty for the remainder of the warranty period or thirty days, whichever is
longer. Proof of purchase is required for warranty service.

1. WHO IS PROTECTED
The Warranty covers only NZXT products purchased by the original consumer.

I1II. WHAT IS AND IS NOT COVERED

Please note that our warranty is not an unconditional guarantee. If the product, in NZXT's reasonable opinion, malfunctions
within the warranty period, NZXT will provide you at its sole discretion with a repaired or replacement product, either new or
refurbished, with a similar function that is equal or greater in value depending on supply. Our warranty does not cover the
following:

any product or serial number/warranty sticker modification applied without permission from NZXT;

any damage that is not a manufacturing defect;

damage, deterioration or malfunction resulting from: accident, abuse, misuse, neglect, fire, water, lightning, or other acts of
nature, unauthorized product modification or failure to follow instructions included with the product;

improper installation, unauthorised alterations or modifications, or repair or attempted repair by

anyone not authorized by NZXT;

shipping or transport damage (claims must be made with the carrier); and

normal wear and tear.

NZXT does not warrant that this product will meet your requirements. It is your responsibility to determine the suitability of this
product for your purpose. For NZXT Store orders, we cover two way return shipping for all exchanges and returns. For all other
authorized dealers, NZXT Support does not cover return shipping and only covers one way shipping from NZXT back to the end
user for exchanges. Two way expedited shipping is provided for all PSUs covered under the Less Than Three program,
indiscriminate of purchase location, provided the location is an approved NZXT reseller.

IV.EXCLUSION OF DAMAGES (DISCLAIMER)

NZXT's sole obligation and liability under this warranty is limited to the repair or replacement of a defective product with either
a new or refurbished product with a similar function that is equal or greater in value at our option. NZXT shall not, in any event,
be liable for any incidental or consequential damage, including but not limited to damages resulting from interruption of service
and loss of data, business, or for liability in tort relating to this product or resulting from its use or possession.

V. LIMITATIONS OF IMPLIED WARRANTIES
There are no other warranties, expressed or implied, including but not limited to those of merchantability or fitness for a
particular purpose. The duration of implied warranties is limited to the warranty length specified in Paragraph I.

VI.TO OBTAIN TECHNICAL SUPPORT
If you have already referenced your product owner's manual and still need help, you may contact us by phone at +1 (800)
228-9395, by email at service@nzxt.com, or visit the NZXT Support site at https:/www.nzxt.com/customer-support.

VIII. APPLICABLE LAW AND ADDITIONAL LEGAL RIGHTS FOR CONSUMERS

This warranty gives you specific legal rights. These conditions are governed and construed in accordance with the laws of
California (with exception of its conflict of law provisions), and the application of the United Nations Convention of
Contracts for the International Sale of Goods is expressly excluded. The non-exclusive jurisdiction of the courts of
California is agreed, which means that you may bring a claim to enforce your consumer protection rights in connection with
this Global Warranty in the country which you have your habitual residence where you may have additional rights. These
rights may vary.

For original consumers who are covered by consumer protection laws or regulations in their country, state, or province of
purchase or, if different, their country, state, or province of residence, the benefits conferred by this warranty are in addition
to all rights and remedies conveyed by such consumer protection laws and regulations. To the extent that liability under
such consumer laws can be limited, NZXT’s liability is limited, and its sole option, to repair or replacement, either new or
refurbished, with a similar function that is equal or greater in value depending on supply.

VIII. APPLICABLE LAW AND ADDITIONAL LEGAL RIGHTS FOR CONSUMERS

This warranty gives you specific legal rights. These conditions are governed and construed in accordance with the laws of
California (with exception of its conflict of law provisions), and the application of the United Nations Convention of
Contracts for the International Sale of Goods is expressly excluded. The non-exclusive jurisdiction of the courts of
California is agreed, which means that you may bring a claim to enforce your consumer protection rights in connection with
this Global Warranty in the country which you have your habitual residence where you may have additional rights. These
rights may vary.

For original consumers who are covered by consumer protection laws or regulations in their country, state, or province of
purchase or, if different, their country, state, or province of residence, the benefits conferred by this warranty are in addition
to all rights and remedies conveyed by such consumer protection laws and regulations. To the extent that liability under
such consumer laws can be limited, NZXT’s liability is limited, and its sole option, to repair or replacement, either new or
refurbished, with a similar function that is equal or greater in value depending on supply.

In the United Kingdom:
« For NZXT products sold to customers in the UK, during the expected lifespan of your product your legal rights entitle you
to the following:

> Up to 30 days: if your goods are faulty, then you can get an immediate refund.
> Up to six months: if your goods can't be repaired or replaced, then you're entitled to a full refund, in most cases.
> Up to six years: if your goods do not last a reasonable length of time you may be entitled to some money back.

« If the person seeking to rely on the guarantee is not the original consumer, the NZXT Warranty will cover the product in
relation to that person provided that they are able to provide proof of the transfer of the benefit of the guarantee from the
original consumer.

+ The implied warranties under the Consumer Rights Act 2015 says that your goods must be as described, fit for all
purposes for which such goods are usually supplied, and of satisfactory quality.
In the EU:

« If you are a consumer and have your habitual residence in the EU, you additionally enjoy the protection afforded to you by
provisions that cannot be derogated from by agreement by virtue of the law where you have your habitual residence.

IX. WARRANTY SERVICE FROM RESELLERS
In the event that a warranty service is sought, you must provide proof of purchase (store receipt or invoice) in order to
receive the service and if deemed necessary, repair or replacement product.

In North America:

Within the first 60 days after purchase, please return your product (or for power supplies installed within our enclosures, just the
failed power supply) to your dealer or reseller for a replacement. If the product is still within warranty and you can no longer
return it to your dealer, please contact NZXT Customer Support (see above) for assistance and instructions. NZXT will not accept
returns without prior approval and an RMA number.

In Europe:

Within the first year after purchase, please return your product (or for power supplies installed within our enclosures, just the
failed power supply) to your dealer or reseller for a replacement. If the product is still within warranty and you can no longer
return it to your dealer, please contact NZXT Customer Support (see above) for assistance and instructions. NZXT will not accept
returns without prior approval.

In Australasia:

Within the first two years after purchase, please return your product (or for power supplies installed within our enclosures, just
the failed power supply) to your dealer or reseller for a replacement. If the product is still within warranty and you can no longer
return it to your dealer, please contact NZXT Customer Support (see above) for assistance and instructions. NZXT will not accept
returns without prior approval.

The cost of shipping will be borne at the first instance by you; however, if the purchased item is defective, NZXT will reimburse
reasonable postage or transportation of costs.

Outside North America, Europe, and Australasia:
If your product needs to be returned within the warranty period, please contact the retailer or distributor from whom you
purchased the product.

X.NZXT.COM STORE RETURNS/EXCHANGE POLICY

Eligible products under this NZXT Warranty qualify for a full refund or exchange only with an authorized RMA number and if the
item is returned to the NZXT.com store inventory within 30 days of purchase. Returns are not allowed beyond 30 days of the
purchase date. The NZXT.com Store reserves the right to deny any return or exchange. Refunds will be credited to the original
method of payment. To initiate a return, simply submit a request via NZXT support site.

e Visit nzxt.com/warranty and support.nzxt.com for information on warranty coverage and service

® Visite el sitio Web nzxt.com/warranty y support.nzxt.com para obtener informacion sobre la cobertura y el servicio de la garantia

Visitez nzxt.com/warranty et support.nzxt.com pour les informations de la couverture de la garantie et du service

Informationen zu Geltungsbereich und Service der Garantie finden Sie unter support.nzxt.com und nzxt.com/warranty

Visitare il sito nzxt.com/warranty e support.nzxt.com per informazioni sulla copertura e sul servizio della garanzia

Visite nzxt.com/warranty e support.nzxt.com para obter informagoes sobre a cobertura da garantia e assisténcia

Moapo6Hyio nHdopmaumio 06 yCnoBUAX rapaHTUIAHOTO 06CNYKIBAHUA CM. Ha Beb-caliTe nzxt.com/warranty u support.nzxt.com

HE 25 Helet Mu|A HE S ISA| 2T httpy/nzxt.com/warranty 5= http://support.nzxt.com £ Y2H FA| 7| BFFL[CH
AREEHEE S & U — EXITET 21OV TIEL support.nzxt.comé nzxt.com/wanantylc 77 £ A LT fEEW

Bi51h nzxt.com/warranty 1 support.nzxt.com 7 B RIEEEMBSHER
&AM nzxt.com/warranty 1 support.nzxt.com 7 B E mREHEMEZRENS

SUPPORT AND SERVICE

Support and service

If you have any questions or problems with the NZXT product you purchased, please don’t hesitate to contact us using our
support system. support.nzxt.com

Please include a detailed explanation of your problem and your proof of purchase. For comments and suggestions, you can
e-mail our design team, designer@nzxt.com. Lastly we would like to thank you for your support by purchasing this product.
For more information about NZXT, please visit us online. NZXT Website: nzxt.com

Soporte y servicio

Si tiene preguntas o problemas con el producto NZXT que usted compré, no dure en ponerse en contacto con service@nzxt.com
y suministrar una explicacion detallada de su problema asi como su prueba de compra. Puede hacer consultas sobre piezas de
repuesto en support.nzxt.com. Para comentarios y sugerencias, escriba un mensaje de correo electrénico a nuestro equipo de
disefio: designer@nzxt.com. Gracias por comprar un producto NZXT. Para mas informacion acerca de NZXT, visitenos en linea.
Pagina web de NZXT: nzxt.com

Support et service

Sivous avez des questions ou des problémes avec le produit NZXT que vous avez acheté, n’hésitez pas a contacter
service@nzxt.com avec une description détaillée de votre probléme et votre preuve d’achat. Vous pouvez aussi commander des
piéces de remplacement auprés support.nzxt.com. Pour les commentaires et les suggestions, envoyez un email a notre équipe
de design, designer@nzxt.com. Merci d'avoir acheté ce produit de NZXT. Pour plus d'informations sur NZXT, visitez notre site
Web. Site Web de NZXT : nzxt.com

Kundendienst und service

Falls Fragen oder Probleme beziiglich lhres NZXT-Produktes auftreten, wenden Sie sich bitte mit einer detaillierten
Problembeschreibung und Ihrem Kaufbeleg an service@nzxt.com. Ersatzteile konnen Sie unter support.nzxt.com anfragen.
Kommentare und Anregungen senden Sie bitte per designer@nzxt.com an unser Designteam. Vielen Dank, dass Sie ein
NZXT-Produkt erworben haben. Weitere Informationen tiber NZXT erhalten Sie im Internet. NZXT-Webseite: nzxt.com

Assistenza e servizio

In caso di dubbi o problemi con il prodotto NZXT acquistato, non esitate a contattarci utilizzando il nostro sistema di assistenza.
support.nzxt.com

Includere una spiegazione dettagliata del problema e la prova di acquisto. Per commenti e suggerimenti, siete pregati di inviare
un messaggio al nostro team di progettisti, all'indirizzo: designer@nzxt.com. Infine, vogliamo ringraziarvi del vostro supporto con
l'acquisto di questo prodotto. Per altre informazioni su NZXT, visitate il nostro sito. Sito NZXT: nzxt.com

Assisténcia e manutencao

Caso tenha questdes ou problemas com o produto NZXT adquirido, nao hesite em contactar-nos através do endereco
service@nzxt.com fornecendo a explicacao detalhada do seu problema e a prova de compra. Podera solicitar pecas de
substituicdo através do endereco support.nzxt.com. Para comentarios e sugestdes, contacte a nossa equipa de design através
do endereco de e-mail, designer@nzxt.com. Obrigado por ter adquirido um produto NZXT. Para mais informagdes acerca da
NZXT, visite-nos online. Web site da NZXT: nzxt.com

Cnyx6a noaaepXKn n o6cnyKnsaHna

B cyyae BO3HVKHOBEHA BOMPOCOB WU HENCMPABHOCTE B NprobpeTeHHbIX Bamu npofykTtax NZXT obpatuaiTecs no appecy: service@nzxt.com ¢
NoAPO6HbIM OnMcaH1eM NpPobembl 1 NOATBEPMKAEHEM NOKYNKW. O HAMUMK 3aM4yacTen MOXHO y3HaTb, 06paTVBLUMCH MO appecy: support.nzxt.com.
3; nr HNA /Te B appec Hallel rpynnbl paspabotunkos: designer@nzxt.com. bnarogapum ac 3a nokyrky npopykra NZXT.
bonee noppo6Has nHpopmaLms o komnarum NZXT npeacTaBneHa Ha Halwmx Beb-calitax. Be6-caint NZXT: nzxt.com

X S M~
TP NZXT X Z2p 2h2toto] A2 £= 2RIt S B2, YA XY A~ (supportnzxt.com) S ARESHO] 22|5HYAIL.
ZHE M3 7|25t 70 SYS MESHIAIR. oA E= HOH AR0| QS B2 A M7 EO| designer@nzxt.come 2

O FALE SRSl FHA ZAIZLICH NZXTO| CHol XbAIS| 2e{B 2efelez

o
=
1o
o
i
=
IS
>
to
E
>
I}
10
tu
K=}
=
o
o
&
0
o

2 EHAA| Q. NZXT 2 ALO| E: nzxt.com

HR—PHLUH—ER
BEAENE LINZXTORRICEIY 2 CERIE fol R, REOF S S UBADIERZRA T, TEEkE < service@nzxtcom®E T
g fEEW, BRI supportnzxt.comF THBRFEEL, TERBLUTREIZEMRETF — L. designer@nzxt.com & T *
—IVERELTLEE L, NIXTRRE CHEAVEEE L THYNESTEVET, NIXTICET Z5Eld. 1> 2—% v b LDz T
YA b ETECLEL, NZXT 7 744 bnzxtcom

XFARS

MRBEERO L EEER NZXT R R P BEIET 0, WD 4E service@nzxt.com BXAERTIBIR R T BRI MR AR MWL
iE - ] AM6) support.nzxt.com BWE R - I ERIE LRI, WIDBERAIRIR U HBA, B F 4t iE 2 designer@nzxt.com -
USRI NZXT 760 - AR NZXT WESES, HEHHAINELMIE - NZXT Wik © nzxt.com

XEMRE

MREEANZXT ERHBRPABIEARBERER - B0 R service@nzxt.com - I fbuysdid

3518 support.nzxt.com S EIREH - MARTERAEE - BUDREHREEEHE designer@nzxt.com * &% -
NZXT Efm - BRI NZXT WESER - AAHRFEME0MNE - NZXT 415 : nzxt.com

nzxt.com NZXT, Inc.

For more building tips and information, visit: blog.nzxt.com 13164 E Temple Ave, City of Industry, CA 91746, USA
NZXT Europe GmbH

Industieiring Ost 66 47906 Kempen Germany



